Câu 1:  [2D3-2.0-3] (GK2 - K12 - SGD Bắc Ninh - Năm 2021 - 2022) Cho 
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 với hằng số 
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. Khẳng định nào sau đây đúng?
A. 
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Lời giải
Chọn B
Ta có 
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Do đó 
[image: image12.wmf]1

1

43

d4

8176

x

xxm

-

æö

+=

ç÷

++

èø

ò



 EMBED Equation.DSMT4 [image: image13.wmf]2664

mm

Û++--=



 EMBED Equation.DSMT4 [image: image14.wmf]6

626

m

mm

³

ì

ï

Û

í

+=+-

ï

î



[image: image15.wmf]6

64466

m

mmm

³

ì

ï

Û

í

+=+-+-

ï

î



 EMBED Equation.DSMT4 [image: image16.wmf]6

62

m

m

³

ì

ï

Û

í

-=

ï

î



 EMBED Equation.DSMT4 [image: image17.wmf]6

64

m

m

³

ì

Û

í

-=

î



 EMBED Equation.DSMT4 [image: image18.wmf]6

10

m

m

³

ì

Û

í

=

î



 EMBED Equation.DSMT4 [image: image19.wmf]10

m

Û=

.
Vậy 
[image: image20.wmf]10

m

=

.
Tài liệu được chia sẻ bởi Website VnTeach.Com
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